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(b) A bag full of gold coins.

(@)  The king of the state. _
lind beggar.
() A golden chariot. ' (d) A blind begg
2. Who was riding on the golden chariot? ;
(a) The king (b) F]o T
(c) Goddess (d) The narrator himseti.
3. What did the narrator have in his wallet? . .
(a) Grains of gold. (b) Grains oflsﬂver
' (c) Grains of corn. (d) None of these.
the narrator filled with deep regret? '
- et s (b) Because he had given his all to God.

" (a) Because he had given nothing to God.

(c) Because he had not given his all to God. (d) Because he had asked for nothing from God.

5. Give the antonym of the word ‘gorgeous’.
(a) impressive
(b)  repulsive
. (©) attractive
(d)  beautiful
6. The word ‘thy’ means
(a) you (b) your

(c) yours (d) yourself

B . Answer the following questions briefly: (7- 12) (6)
What was the speaker doing door to door?

Who do you think ‘this king of all kings refer to?
What made the speaker’s hopes rise high?

10.  What happened contrary to the speaker’s hopes?
11.  What has been called ‘a kingly jest’?

12.  What made the speaker weep bitterly?

. Read the following passage carefully and answer the questions that follow:- (8)
There are two problems which cause great worry to our educationists---the problem of religious and moral

instruction in a land of many faiths and the problem arising out of a large variety of languages.

299 il

' ‘Tak'ing'up the education of children we see that they should be trained to love one another, to be kind and
helpful tc? all, to be tender to the lower animals and to count and calculate is important, but it should not make
us lose sight of the primary aim of moulding personality in the right way. ,

-_ Fo}_f thl]s, it is necessary to call into aid, culture, tradition and religion. But in our country we have, in the same

: lsi(i‘e(::; (,j tf(';, lllc:)czlvc gf;?r boyi and girls born.m diffe{ent faiths and belongings to families that live di\;erse ways of

e s pa:;h e(:)r;:i ag?:stﬁf \;/f)frshlp associate vs.fith different denominations of religion. It will not do to

v S sy 0 suitablegte'cﬁ l ﬁgulty by attending sol'ely to physical culture and intellectual education.

| g e therebmque and method for serving the spiritual needs of school children professing
helpful cdiope'ratioh Ly d'}% promote an atr{l(.)spl.lere of mutual respect, a fuller understanding and |

e B o basigt > different communities in our society. Again we must remain one people and we |

approciate nd osse raining in our schools to speak and understand more languages than one to |

respect the dlffe;rent religions prevailing in India. It is not right for us In India to be dissuaded

from this by considerations as to overtaking the
s to : : . s
fact too great a burden, - 0V€l'takmg At'he YOgng mind. What is necessary must be done. And it is not in
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govc;-nmcnml coers:ion an‘d indirect pressure
[c way of life and form of worship on all

n sccularisalion will lcad to conflict between
recognition 1o the different prevailing
ligious {eaching for boys and girls of

al values.

Any attempt to do away with or stcamroll the differences lh‘roug'g,h
would be as futile as it would be unwise. Any imposition of asing
children or neglect of a geetion of the pupils in ihis respect or burr.c
school and home life which is harmful. On the other hand, if we gIVC‘dUC
faiths in the educational institutions by organizing suitable fucilitic:s for relig
all communitics, this may itself serve as a broadening influence of great nation

Questions:-
(n) On the basis of your reading of the above passage, make notes on it, using headings and sub:headmgs. Als;) use
recognisable abbreviations, wherever necessary (minimum 4) Supply an appropriate title to it ((3))

(b) Write a summary of the above passage in about 80-100 words.

Scction-B [Writing+Grﬂmmar-SOM]

on in a newspaper, giving

@

ertisement to this effect, for publicati
dation, rent expected etc in about 50 words.

OR |
the Secretary of the RWA of the |
ary details in

3. You want to let out a house. Prepare an adv
location of the building, nature of accommo

place in the Aradhana Colony. As

A Blood Donation Camp is going to take
the residents to take part in the cause. Invent the necess

colony draft a notice asking and encouraging

not more than 50 words.

4. You are a resident of Mahalakshmi Apartments, Paharganj, Delhi. Your residential area is flooded with

- roadside dwellers who are deprived of the basic civic amenities like light public toilets and bathrooms. Write a

Jetter to the Editor of the Hindustan Times, highlighting the problems of these roadside dwellers and also the
problems posed by them 10 the public. Give suggestions for improvement in about 120-150 words. ©)

OR

You are Anil Gupta. Write an application for the post of TGT (Mathematics) in a reputed public school with a

_complete Bio-Data.

cellence of the students by giving them certificates and medals on the
wited. The highlight of the day is the announcement of the winning

| school magazine describing the

10)

5. Your school recognises the athletic ex
Annual Athletic Meet. Parents are also ir
house. Write a report in about 150-200 words for the publication in your annua

Annual Athletic Meet,
OR

) clubs and beauty parlours are mushroo
wareness of health and beauty.

You have observed that healt} ming everywhere. Write an article in not

more than 200 words on the growing a

dited. There is an error in each line. Write the incorrect word and

6. T'hé following passage has not been ¢

the correction in your answer sheet as given below, against the correct blank number. (1x4=4)
e ‘ ‘ ' Incorrect  Correct

One morning _I~’ﬁnigli¢(_l of;e business at the bank = e Jome

(a) and was returning in pick up my inotdr__bikcﬂWhich I had left

(b) in the parking lot outside. Suddenly he realised that 1 had
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(c) lost the bike key. Upset, I searched about it in the bank.
d it and in vain _—
2) Time

(d) A bank employee tried to help me fin

s Rean-ange the following words/ phrases into meaningful sentences:
I. heis/ party/ explain why/to/ didn’t/ going/go to/ they / the ) Gene
2. was prouci/his sirength / despised the / who / tenants / the jandlord / weakness of hl.S / Of: the blank places Al g
8. Read the conversation given below and complete the following passage by filling in the o B
: & i AnNs

appropriately. Do not add any new information. ] . 0

Varun and I are going to watch the cricket match tomorrow. Would you like to join us AR
ther’s permission first. y
asses. (

Raghav: Hi Ravi,
Ravi: Iwouldlo
Raghay: You must let me know

Ravi: [willdoso.
Razghav informed Ravi that Varun and he were going to watc
Sl (@) Ravi replied (b) permissi
. forthepasses. Ravisaid (9)

ve to but I have to take my fa
by this evening because I have to arrange for the p
h the cricket match the next day. He asked Ravi
on first. Raghav told him (c)

Section-C [Literature and Long Reading Text30M]

(3)

?. Read the extract carefully and answer the following questions:

=This is 2 tricky thing
" 1need some council. Bring fo me
* This wisest mzn in this country.”
The vsisest man was found and brought.
Nay, carried, to the Royal Court.

(2) Nzme the poem and its poet.
~(b) What kind of man is considered as the wisest in this country?

(c) Who is ‘I’ referred to here?

10. Answer any three of the following questions:- 30-40 words
1. Why did Tzplow had to stay back at school on the last day? &

2. Do vou find 2 change in Ranga’s thinking after he met Ratna?

3. In the poem “Father to son” what does the father long for?
4. What was the first familiar thing that the narrator saw at Mrs. Dorling’s house during the second visit?
(6)

11. Answer any one of the questions in above 150 words.
Aﬁg changing her personality, how does Mrs. Pearson set Doris and Cyril right?

OR

Justify the title “The Birth’.
Long Reading Text Novel (12)

12. Though *The Canterville Ghost’ | s
IR ch;zf; DGI?;:t is arhurflor.ous story, it contains a message. What is this message?(150 words)
AT ‘ OfChesin;m in the context of his reaction on Virginia’s disappearance.150words
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Annuil Promotion Emination = 20011

Clivti = X
suhject = Physlcal Education
FARA 5 70

L Tine 3 3100 Hous (115 Min, Reading Time)

 Genaral fnstrvetions:
All questiong arg campuiory
j\“’%\-\m 0 Sl\‘@“i\k}\.\ eartylng A mark should e approximal
a;\;)x\'v\ax t question earrying A mark should ha approximately 80 00 words sach
Answer Lo question earnying b mark should he approximately 150 200 words each
(1%11=11) Marks

aly 20-140 words gach

Very short answer typa questions,

L Dafine Physical educationd
o Wrlte dawn the oath taken by participants In the modarmn Olymples
A What do you mean hy flexibility?

4. Define adaptive physical aducation,

%, What do you mean by yogad

6, Wrlte an objective of adventure sports,

2. What ls BVl and how It 1s measured,

8, What do you mean by muscles?

Q,  Define centre of gravity.

10, What is meant by adolescences

11, Define the term skill?

short answers type questions (3%8=24) Marks

1, Explain the components of wellness,
2, Wha is the vision of special Olymple hharat?
3, Why la Yoga important in modern life?
4, Write hriefly on the Importance of tast, measurement and evaluation In sports.
&, How does anatomy differ from physlology?
6, What are the differant types of levers?
7. Differentiate growth and development,

8 Explain In brief about bload doping?
Long answer type questlons ‘ (5X7=35) Marks
1, Whatare the components of a positive life style? DIscuss,
2, Drlefly explaln the roles and qualities of a lendor,
A, Wrlte an essay an the three somatatypes doscribad by W H sheldon?
A Write on the properties and function of musclos?
B, Dlseuss In detall the importance of hlomechanlcs In sports.
6, Discuss the impertance of warming up In gports?
7. Whatare different performance anhanelng drugs? Write n detall
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Promotion Examination - 2017-1
Class - XI A,B,C & D
Mathematics

Max.Marks : 100

Time : 3:00 Hrs { + 15 mins reading time }

General Instructions: '
ded into four sections A,B,C

i).  The question paper consists 0f 29 questions divi

and D.
Section A comprises of 4 questions of 1 mark each.
Section B comprises of 8 Questions of 2 marks each.

Section C comprises of 11 Questions of 4 marks each.
Section D comprises of 6 Questions of 6 marks each.
ii).  Allquestionsare compulsory, in some questions internal choice 1s given.

i), ~ Try to attempt the question in serial order.
iv). Useof calculators is not permitted

' Scction A |
[Question number 1 to 4 carry 1 mark each]

(1+x)“z(1+nx),forall

Using the principle of mathematical induction, prove that
neN,x>-1, assuming that P(k) is true , check for P(k+1).

y,)and Q(x,,, ) when PQ is parallel to y-axis.

2. Find the distance between P(x,,
),E(3,0,1)

Find the centroid of a triangle, the mid points of whose sides are D(1,2,-3

and F(-1,1,-4).
gadie. Let E be the event "getting a prime number" , F be

4.  Consider the experiment of rollin
_Write the set representing the events "E and F".

the event "getting an odd number"

Section B
[Question number S to 12 carry 2 marks each]

Given three set_st, B and C, draw a Venn diagram for

§) & (AAB)a ) An(BUC).
6. If cotB + tan6 = 2¢0s eée';"then find the general value of @ .
»1'__i 100 .
=T If a+ib=(-1—;—i) ,th_enﬁndaandb.k =

N e v b

o m s
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N
8. : s it 9 if cac
IIOVVlnun)IS-digillclcplunlclxunlhcnicnnl)uu«nunruclcd using the digits 010 9 if cach
number starts with 67 and no digit appears more than once?,
. . o i o T (e
9 The 4% term of a G.P. is square of its 2 term, and the first term s -3, Determine its 7" term.
10.  Find the equation of parabola passing through (4, -2), vertex (0, 0 ) and symmetric with .
respect to y-axis
11.

Find the derivative of (3x -+ 5)(1 4 tan x) w. 1. to %,

12. A coin is tossed three times. Find the probability of getting

i)  nohead i) ahcad on first coin.

Section C
[Question number 13 (o 23 carry 4 marks cach]
13.

Let A ={1,2,3,4,6},lct R be the relation on A defined by

R ={(a,b):a,beA,biscxactly divisiblebya } Write R in roaster form also find the
domain and range of R.

~14. In AABC,prove that a.Sin(13-C ) b.Sin(C-A)+c.Sin(A-B). |
OR
I that tan B-C = Jl:—(i coli\—
n AABC, prove tha > o

15.  Repres -7=—2~t§ﬁi‘l lar f
5. Represent 4~ 5,’.J;?11111017<) ar form,

16, Solve the following system of lincar incqualitics graphically :
& IxA42y5150, x+4y<80, xs15and y20,

17.  Inhow many ways can the letters of the word "PERMUTATIONS" be arranged if the
i) word start with P and ends with S

if)

vowels are all together.
18.  Find the coefficient of x in the expansion of ( | = 3%+ 7x* )( L-x ),

OR

: : o 12
(] ' . : N " b
~ Find the middle term in the expansion of (20% pbpn ¢
) ’x o

- : : ’ it i) ik /
- 19, - The sum of two numbers is 6 times their geometris mean. Show that numbers are in the ratio
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g e

24,

"
n

26.

‘Line through the points (-2, 6 ) and (4,

i) Xonly ii) Y only

B
ii)

2% * Find the sum to n terms of the series :

Fiﬁdthc‘sﬁﬁl oftheﬁrstntermsoftheseriésf: 1x2x3+2x3x4+

( b 22 \( 3- 22 )
and find their slope, also x

Reduee the equation 6x -+ 3y - §= 0 into slope intercept form

and y intenvept,

i £(x) i £(x) £(x) 2x+3:x<0
N i N i (%) where (X) =
Biad M % and M (X), where (x) 3(x+1) x> 0"

8 ) is perpendicular to the line through the points

{8, 12) and (x, 24), Find the value of x.

Find the equation of the hyperbola with eccentricity o and fociat (£2,0)-

OR
1

Find the equation of the ellipse having focii at (£2, 0) and eccentricity > -

Section D
[Question number 24 to 29 carry 6 marks each]

In a town of 10,000 families, it was found that 40% families buy newspaper X, 20% fami
lies buy newspaper Y and 10% families buy newspaper Z, 5% families buy X and Y, 3%
buy Y and Z and 4% buy X and Z. If 2% families buy all the three newspaper find the

number of fanilies which buy

iii) none of X, Y and Z.

OR
glish, 12 passed in Mathematics, 8 in Science, 6 in

Out of the 100 students, 15 passed in En
d Science, 4 in English and Science, 4 inall

English and Mathematics, 7 in Mathematics an
the three. Find how many passed in
English and Mathematics but not in Science ?

Mathematics and Science but not in English ?
jii) Mathematics only?

From a menu that offers 3 salads, 2 starters, 8 desserts, how many different combination of

: dinner with 1 salad, 1 starter and 1 dessert can be made ?

Find the term independent of x in the expansion of ( N

i 5

12'+(12+22)+(12 % o

OR
3x4x5+.
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28. ;
Usmg first principle, find the derivative of f(x) = Cosec x.

29, ) .
Find the mean, - variance and standard deviation using short cut method :

Heigh
Bits 70-75]75-80|80—-85]85-90|90-95|95-100 | 100—-105]105-110 110-115

incms
No. of v
7 15 9 6 6 3
children t J
*kkokok
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I

ANNUAL PROMOTION EXAMINATION -2018

CLASS - XI (COMMERCE)
ECONOMICS
Max. Marks 80.

Time: 3 Hours + 15 min

; (c) Answers to four mark

General Instructions:-

All Questions in both the sections are compulsory.

Section B is to be attempted on separate answer sheets.

Section A and
each.

(a) One mark questions should be answered in one sentence
(b) Answers to three mark questions should not normally exceed 60 words each.
questions should not normally exceed 70 words each.

ds each.

imit and the graph paper for the numerical is to be attached
tion.

(a)'Answers to six mark questions should not normally exceed 100 wor

Numericals do not have any word 1
on the same page where you have attempted the ques

Kindly follow the sequence of the Question paper.

10.
(b)  Distinguiskh

SECTION A- (ECONOMIC DEVELOPMENT)
try at the time of

Name som"e modern industries which were in operation in our coun
independence. 1)
When was the Planning Commission established :- )]
(a) 1947 (b) 1948 (c) 1950 (d) 1951

3)

e two importarit objectives of land reforms?

What are land reforms? What are th
' rather than on 'export promotion’ to improve

Should India rely more on 'import substitution r

its balance of trade. 3)
What are the three approaches that the government has adopted to combat poverty in the
country emphasising the Minimum Needs Programme. (3)
How has the government tried to regulate the education sector through various
organisations? 3)
What were the salient features of the trade policy after liberalisation? @)

' What are the common types of unemployment found in the urban and rural areas ? (4)
() Whatis organic farming? Why should we adopt organic farming? (3)
(b) s Dlstmgwsh between commercial energy and non-commercial energy. (3)
(@) Whatis mﬂatlon’? What are the causes of inflation? 3)

ormal Workers and

h between Casual Workers and Regular Workers OR F
: lnformal Workers. (3)
(2)

e 11 . (a) What doec: mfrastructure refer to”
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(b) What is education and why is education considered as an essential element of human

resource development? (2)
(©) What measures need to be taken to protect the environment? (2)
h\
' SECTION - B (STATISTICS)
12, What is Economics? 1
13.  Whatis standard deviation? 1
14.  What s frequency ? 1
15. Whatis correlation? 1
16.  Give three differences between census method and sample method?
OR
What are the qualities of a good questionnaire? 3
17.  Discuss the importance of statistics in economics. 3 w
18.  Construct a pie diagram for the following data. 4
Items of Food Clothing | Housing Fuel and Others
Expenditure Light
% of Income Spent 65 15 12 5 3
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21.

22.

23.

Plot the following figures on a Time series graph

Calculate the standard deviation and its coefficient of the followin

Construct
price relative method

Marks 0-5 | 5-10 | 10-15 15-20 | 20-25
No. of students | 2 5 7 13 21
OR

a consumer price index using (i) Aggregative Expendi

Commodity A B C
Price 200 300 100
in2004(Rs)
Price - 250 300 150
~ in2015(RS)

Find the missing frequency in the foll

owing distribution if N is 60 and median is 40

2 orts Exports

Year Rs. Thl(r)rlllr;and crore
2009-2010 128 106

2010-2011 178 140 )
2011-2012 215 159 |
2012-2013 231 203

2013-2014 245 209

g data:

25-30 | 30-35 35-40
16 8 3

rure method (ii) average of

D E F
250 400 500
350 450 550

6

30-60 80-100
8 2

— 10-30 |

Marks 0-10 | 10-30 60-80 |

Frequency 5 i s 2 ? \
OR

What is Random samplin

g? Explain its different methods. Give its merits and demerits.

Find the coefficient of correlation from the following data:
X 10 ' 12 18 16 5 [ 19 | 18 | 17 |
i 30 35 | 45 44 42 | 48 | 47 | 46 |
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0lo,

Qr1,

Q12.

QI3.

Q14

QIs.

Ql6.

QI

0
(ii)

- In some cases; goods are not supplied 2t 2ll even though receipt of advas

porennEsi

13

InIndia, most of the cooperative socicties suffer due 1o exoesive

intervention and misuse of funds, Explain the impact of this phenomenon,

nzme of 1his

I'he Government of India has made provisions for issuing 2 particulzr type of finznciz)
instrument on the pattern of American Depository Peceipt, Mention the nzm j
instrument and explain its two features, 3]

Bata India Limited has a number of shops of the szme type in differemt localities
Aziling system tha

almost every city of the country. Mention the nzme of lzrge-nzle re
2]

has been adopted by the company and explain its two merits,

of

-(ff..,, ,,‘,4(/) iﬁ zn

What do you mean by business ethics? In order to enforce business b
4

organisation, some elements are necessary.” F %plain these elements,

Name the organisation which has been estzblished by the Government of Indiz to

(A
*eTA F/’

promote small industries in the country znd explain any three services pron
{41

-

Asia Limited has accepted a deposit of 5 crores from Pzcific Limited. Mention the neme
of the source of finance under which it can be put znd explzin s two fzztures,  [4]

Roshan and Guishan are friends znd run 2 parinership firm. The firm is not registered.
Their common friend Ishant advised them to get the firm registered. For zettins the fSrm
mizining terms znd conditions of

reglstered, they wanted to prepare 2z document conizinin
carrying out partnershlp firm. Mention any four hich must be includsd n this

Ef T Ty T
RSTS Wiiicn 3IUSL O INCingsn

document.

A company is engaged in e-business. Orders from customers

T =
L et - - ‘ 3
2 SOO0T orderel o

SUUCE ORISR 1

website of the company. The customers s may mzke pavmen: for th
advance through the website or make payment on deliven ety of goo
adOpts the foﬂomng practh&C

- Goods for which paymentis received with orders are supplied guit e,

“)
[R\]
s

st
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1#¥ind Lpmsil] _ _ ;
‘Annual Promotion Examination 2018 }

Informatics Practices [Theory]
Class - XI Commerce

Time:3.00Hrs. [+15minsreading time] MM. 270
General Instructions :
1). First £ fieen minutes are 1o be spent on reading the Questions papet-
2). Al questions are compulsory.
: 3). Allpartsofthe question are to be znswered together in SSQUETCe-
Q1. Answer the following questions :
2). Whatisthedifference between password and text field? 2]
b).  What are the different ways to display the output ofa Javaprogram ? 2]
¢). What isthe use of Switch Statement ? Give one example program. 31
d). WhatdoyoumeanbyAggregaieﬁmcﬁminM}‘Sql 2 Define them. B
Q2. Answer the following questions in respect to Java :-
a). What is the difference between eniry control and exit conirol loops in java '
Explain each with an example program. 4
b). What is the use of a List Box Control in Java 2 Give one example program
in Java to illustrate the usage of a List Box Control. 3
¢). Whatdoyoumean by Tokens ? How many iype of Tokens zrethereinJava? 31
Q3. A). Find theerrors,ifany., in the following programs and rewTite them underlining the
corrections made by you, in your answer booklet : (51
i) inta;bsc;
intd=70;
for(c=10,c<=d, c=c+10);
{ S}-'stem.out.prinﬂn( c=1.c)
b=b+c;
35
i). Intx.y:
P ot
whilex>=1
{ y=x+10;
XY
= gt
‘ [

B). Doasdirected: _
§). How many times will the following loop execute ?

. intx=20;
 inty=50;
While(x<=}<) ,
ey

-~
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Q4. Write a program to Input your Name , Roll number and marks of four different subjects,

On pressing an OK button it should find out and print total marks , average marks and the result
[10]

). Give output of the following prograit
intx =00,
inty=90;

while (x<Yy)
{ System.out.printIn(x +" and "1 y);

x=x+8;

}

System.out.printn(x + " and " +y);

ofthe student in different text ficlds. The result is based on the following criteria :

- First Division

[2'/)]

(2]

Average marks above 59
Average marks from 50 to 59 - Second Division
Average marks above 40 to 49 - Third Division
Average marks below 40 - Fail
QS. a). Forthe following given loop write the equivalent while loop :
: intz=17;
intsum=0;
for(inti=10;i<z;i++)
sum =sum + 1;
b).  Convert the following program using Switch statement inplace of ifstatement
if(a=1)
{ System.out.printIn(" ONE ");
}
elseif(a=2)
{ System.out.println(" TWO ");
}
elseif(a=3)
{ System.out printIn(" THREE ")
}
clse
{ System.our_pﬁnﬂn(” Wrong No given ");
}
¢). Wrteaprogramtoi : S o
e .P gram to input any number from 1 to 10 indigits and your program should
- prntitin words.
6. 3 : :
Q6. ). Whatcontrols would you suggest for following types of inputs in Java 2

0. typedtext(single line)
). one out of many options

,l‘ i), "to'select multiple options

V). totypethe date.

[5]
2]
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b). Madhya Pradesh Electricity evelopa program in Java for their

Board wantstod
consumers, help them to designan application onthe following basis. 18]

Madhya Pradesh State Electricity Board

JABALPUR

MeterNo [ ] Name —— |

! Pole No ]f _J

’ Locality | B

o Lo Monts Reating ] Cumont Month Reading_____|

O Normal Connection O3 Phase Connection

Units Consumed

2 Amount to pay _l

Rate |
Amount after due date r J
L 1). Youare required to feed Meter No, Name, Pole No, Last Month's Reading and the
Current Month Reading, the Locality.

Normal or 3 Phase Meter connection from the Radio Buttons.
3). On pressing a Generate Button it should Display Units Consumed , Rate
per unit, Amount to pay , Customer Type and the amount after due date.
4). Rateistobe calculated on the following basis :
- For Normal phase : :

2). - Select

i. upto200units - Rs. 4 per unit
i) from201 to 500 units = Rs. 6 per unit
ii). from 501 unitsonwards - - ‘Rs. 7 per unit
" For 3 phase meter
i).  upto500units e Rs. 5 per unit
- ii). from501to 2000 units'~ . = Rs. 7 per unit
. i) from2001 unitsonwards - Rs. 9 per unit

. 5) : :~'F61:Bi'll AmQHnt‘aﬁer due date , bill amount along with a fine of 6% onthe bill

~ amounttobedisplayed.
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Genera! Instructions:
1). All questions are compulsory.

ii). Working notes should be shown wherever necessary.

Q1). = What is the nature of Receipt and Payment account and Income and Expenditure
~account?

1]

Q2).  Define Amortisation. [1]

»Q3‘). Explain the concept of prudence. = _ [1]
Q4). What do you mean by credit balance of Bank column as per Cash Book? 1]
Q5). Whatis the main objective of preparing a Trial Balance? [1]
Q6). Ajay, a dealer in furniture, received advance against sales of tables and chairs.
~ In your opinion how should this advance be treated and why? | [1]
Q7). What do you mean by Life Membership Fee? Explain. [1]
Q8). . Distinguish between Capital Receipt and Revenue Receipt? [1]
Q9). Compute the amount to be shown in Incorrie and Ei{penditure Account. » [3]
- 1* April 2016 31* March 2017
Amount due to suppliers of Medicine 7 '4,50:,000 5,00,000
Advanée to suppl’iers of Medicine 2,00,000 ' 2,90,000
Stock of Medicine e 10,00,000 9,00,000

Medicine purchased during the year 20'1'6-2017 were Rs 800000
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Q10). Joumaiise the following: [3]
a). Sold goods to Anil for Rs. 20000, allowed him 10% Trade discount and 10% cash
Discount. Received half of the amount by cash and balance half by cheque.

b). Purchased goods from Sanjiv of Rs. 40,000 at 10% Trade Discount and 5%

Cash Discount.

QI1). Pass the Opening Entry on 1st April, 2017. 3]

VCash in hand : 20,000

Sundry Debtors 50,000

Stock of goods 30,000

Plant : 50,000

Land and Building 2,30,000

Sundry Creditors , 1,50,000

3]

Q12. From the following prepare Trial Balance :-
Capital - Rs. 20,800; Rent outstanding Rs. 1,420; Amount payable to Sohini Rs.15,000;
Drawings Rs. 2,800; Goodwill Rs. 12,000; Interest received - Rs. 2,000; Discount

~ received - Rs. 1,580; Amount due from Mohini Rs. 26,000.

Q13. Pass the Journal entries to rectify the following errors :- ‘ (3]

a). A cheque for Rs 500 received from Mohan was dishonoured and had been posted
to the debit of bank account of cashbook.

- b).  Asaleof goods from Ram amounting to Rs. 1,500 has been wrongly passed

through the Purchase book

o) Puréhase Return Book was carried forward as Rs. 1,220 instead of Rs. 2,120.

Ql4. Calculate Cost of Goods Sold and closing stock: [4]

Opening Stock Rs. 15,000, Sales Rs. 48,000, Carriage Inwards Rs. 3,000, Sales Retum
Rs. 300‘0,_’Gross,Prpﬁt' Rs. 18,000, Purchases Rs. 30,000, Purchases Return Rs. 4,000.
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June 7 Purchased from Arora & Co., Nal Sarak.
10 Chairs @ Rs. 200 each
1 table for Rs. 600
.| Trade discount 10%
June 10 - | Sold to Sudha Furniture Co. Agra:
1 Almirah @ Rs. 2000
: : Less: 15% Trade Discount
June 12 Sold to Meera Mart for cash:
10 tables @ Rs. 1,000 each
June 15 Purchased from Hira Lal & Sons for cash:
‘ 15 chairs @ Rs. 350 each
June 16 Purchased from Fateh Chand & Co., Delhi,
’ 5 chairs @ Rs. 180 each
June 25 Sold to Ravi Sharma, Delhi:
"| 2 dining tables @ Rs. 6000 each
Less: 10% Trade Discount

Q16. Following information is supplied to you by a shopkeeper. [4]

1st April, 31st March,

: 2016(Rs.) 2017(Rs.)
@ashs"""0" < AE R e . 600 700
Sundry Debtors =~ i 800 6,400
Stock et e 5,900 8,700
Furpiture ="« © T i ieeiaees 1,500 " 1,350
Sundry Creditors = e 2,000 - 1,800

- Bills Payable SUPILE o I 1,500 1,100

~ During the year, the shopkeeper withdrew Rs. 250 per month for domestic use. He also
borrowed from a friend at 12% p.a a sum of Rs. 2000 on 1st October, 2016. He has not
yet paid the interest. A provision of 5% on debtors for doubtful debts is to be made.

Ascertain the profit or loss made by him during the period.

Q.17. On 31st December, 2‘017_, Bank Pass Book of T aneja & Co. showed an overdraft of Rs.
' 7,700. On the basis of the following particulars prepare a Bank Reconciliation Statement:

(i) Cheques issued before 31st December, 2017 but not yet presented for payment
amounted to Rs. 3,500.

(i) - Cheques paid into the Bank but a cheque amounting to Rs. 2,600, has not been

collected yet. -
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(it))  Interest on Loan amounting to Rs. 554, directly debited by the Bank did not appear
in the Cash Book. '

(iv)  Rs. 4,800 directly deposited by the customer entered in the Pass Book but not in
the Cash Book. (5]

Q.18 A Machinery was purchased for Rs. 1,80,000 on 1st July, 2015. Depreciation was
charged annually @ 10% on Diminishing Balance Method. 1/4th of this Machinery was

sold on Ist October, 2017 for 36,000. Prepare Machinery A/c till the year ended 31*

~ March 2017. ‘ [5]

Q.19. Calculate what amount of subscription will be posted to Income and Expenditure
' Account for the year ended 31st March, 2017. Also, show the relevant items in the

financial statements of the not for profit organization. [3]
Rs.

Subscription received during 16-17 48,000

Arrears subscription on 31% March 2016 3,000

Advance subscription on 31% March 2016 4,500

Arrears subscription on 31% March 2017 3,500

Advance subscription on 31% March 2017 2,000

Q.20 Manish Gupta has the following transactions with Subrat Mukherjee for the month of
April 2017. [6]

April 1 Balance due from Subrat Mukherjee Rs. 5,000
April 5 Credit given for goods returned Rs. 800, cheque received in settlement
of account, less 5% cash discount. "

April 6 Sold goods for Rs. 10000
April 10 Received a letter from Subrat Mukherjee in which he informed that he

; would forward a cheque of Rs. 10,000 on 20th April.
April 20 Received a cheque for Rs. 9,500 and allowed cash discount of Rs. 500
April 30 Subrat Mukherjee's cheque returned by bank marked 'Refer to Drawer"
Show how the account of Subrat Mukherjee would appear in the ledger of Manish Gupta

~and Balance Account on 30th April, 2017.

Q.21. ‘Enter the following transactions of M/s Premier Trading Company in Cash Book with
Double Columns and balance the Cash Book as on 31st December, 2017. Also pass the

- Journal entries where necessary. [6]

Date Particulars

201706 S B -

Dec. - 1 Cash in Hand Rs. 4,000: Bank overdraft Rs. 1,000 _

~ Dec.. 3 Received a cheque from Ram Lal on account Rs. 290 and allowed him
~ discountRs. 40 :
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Dec. 7 Ram Lal's cheque deposited into Bank
Dec. 10 Withdrew from the Bank for office use Rs. 800
D¢c. 12 Cleared Bills Payable by cheque Rs. 600
Dec. 15 Cheque received from Chandulal of Rs. 2,400 against dues of Rs. 2,450
- Dec. 20 Issued a cheque for petty cash Rs. 100
~~Dec. 26 Paid to Gupta by cheque Rs. 920; discount received Rs. 30
Dec. 28 Cash salles Rs. 900
Q22. Onlst October 201 7, X sells goods to Y for Rs. 25,000 and draws two Bills of Exchange
: on him:’the'ﬁrst for Rs. 10,000 for 2 months and second for Rs. 15,000 for 3 months. Y
. accepts and returned these bills to X. Both the bills are sent to the bank for collection. In
i du_}e course, X receives the information from the bank that the bill for Rs. 10,000 has been
duly met and the other bill for Rs. 15,000 has been dishonored. Noting charges paid on
the dishonor of the second bill Rs. 100. :
 Pass the Journal entries in‘the books of X. [6]
Q.23 You are given following balances as on 1st April 2015. [6]
~ Machinery A/c Rs. 5,00,000
- Provision for Deprecfation Alc Rs. 1,10,000
: .Depreciation is charged on machinery at 20% p.a. by the Diminishing Balance Method. A
piece of machinery purchased on Ist April, 2013 for Rs. 1,00,000 was sold on Ist
‘October, 2015 for Rs. 60,000. Prepare the Machinery Account, Provision for
Depreciation Account and Machinery Disposal Account for the year ended 31st March,
~ 2016. .
A 'Q.24. From the following Receipts and Isayments Account of Accountants Club, pfepare
- Income and Expenditure Account for the year ended 31st March, 2017. [8]
" RECEIPTS AND PAYMENTS ACCOUNT (for the year ended 3 1st March 2017)
Receipts Py Rs. Payments Rs.
To Cash in Hand (Opening) 4,500 | By Salaries 49,500
“To Cash at Bank (Opening) 1,26,000 | By Stationery 8,970
To Subscriptions 1,52,400 | By Billiard Table 58,050
To Donations L . 72,000 | By.Investments 61,980
To Interest on InVestments ‘ 1,800 | By Miscellaneous Expenses 7,500
To Entrance Fees | 18,000 | By Furniture 1,23,000
To Interest Recelved fromy . ‘By Insurance Premium 2,700
i 6,300
Bank = i : 3.300
dNews a2 ers” 900 By Cash in Hand (Closmg) )
To Sale OfO] p p e e G By Cash at Bank (Closing) 66,900
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(D) Subscrlptlons in_arrears for the year ended 31st March, 2017 Rs 113,500 and
o Subscnptlons received in advance during the year ended 31st March, 2016-Rs. 3,900.

(i) In»surance Premium prepaid is Rs. 300.

Q.}25.; From the ‘following Ledger balance of Mr. Charan Singh,v prepare Trading and Profit and
: Loss Account for the ended 31st March, 2017 and Balance Sheet as at that date after

making the necessary adjustments. [8]
~ Particulars Rs. Particulars Rs.
Trade Expenses . 800 Purchases : 82,000
Freight and Duty 2,000 Stock (1.4.2016) 15,000
Carriage Outwards 500 Plant and Machinery (1.4.2016) 20,000
Sundry Debtors : 20,600 Plant and Machinery (additions 5,000
i : on 1.10.2016)

- Furniture and Fixtures 5,000 Drawings 6,000
Returns Inward N 2,000 Capital 80,000
Printing and Stationary 400 - Provision for Doubtful Debts 800
Rent, Rates and Taxes 4,600 Rent for Premises Sublet 1600
Sundry Creditors ' 10,000 Insurance Charges 700
Sales - 1,20,000 Salaries and Wages 21,300
Returns Outward 1,000 Cash in Hand 6,200
Postage and Telegrams 800 Cash at Bank 20,500
Adjustments:

(i)  Stock on 31st March, 2017 was Rs. 14000
(il)  Write off Rs. 600 as Bad Debts. |
- (iii) Provision for Doubtful Debts is to be maintained @ 5%

(iv). - Provision far Deprecia_tion on Furniture and Fixtures at 5% p.a. and on Plant and
*Machinery at 20% p.a. :

W) A fire occurred in the godown and stock of the value of Rs. 5,000 was destroyed. It was
msured and thc msurance company admltted full claim.
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